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AN dot=SAFE A
M AAT . AL B
S DIE24AE fX22 (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 10,343,352 10,616,387 A 273,035
aaC - Alg e 78,897 88,297 A 9,400
OlS=AlE |SX2a 78,897 88,297 A9,400
OtES=Ald @ AREsA4 S22 78,897 88,297 A 9,400
201 L2l 62,297 21,797 40,500
01 At 22l 21,797 21,797 0
OaxrAZa=EAE ANASASBTFLYI SN2l =
=3 80,000 1170 263 5,280
O2RRLEAE 24X 7L
100,000& * 187K 2 13 1,800
OAREF=EANE =ZBA =2 14,717
— 22T ANE B FEHPAM =8 1,604
Xlsot==(24) 75,8003 x 17 22 +13] 1,289
Saz%(24) 249,200 x 1 2 *13] 250
Sa=(8l) 32,2003 x10f & *23] 65
—A2AE2FEANE B FEHA =8 13,113
H==(271) 56,500 187K £ x43] 4,068
Ha=(14) 329,800& * 18I A+ 13 5,937
(M 2el) 56,500 *55J0 2~ *13] 3,108
02 2524l 40,500 0 40,500
O&x+=Te3(2016d 2H BXZ)
4,500,000& x9H 40,500
206 24 3,300 3,300 0
01 MHZ 8l 3,300 3,300 0
OarAZ=EAE 254EF 2
4,400 *13kg x55H A 3,146
OAREFEANE =ZBANE R2M=8 2 154
— 24 1,200 550 2 13 66
— 44 1,600& *55JH A x13] 88
401 AIEHIZL 2CHYI 13,300 63,200 249,900
01 A& Hl 13,300 63,200 A 49,900
OL2AZF=ZAE B 10,000
O2nZ=% HMAIE Bi==XI& bl
3,300,000 =104 2 3,300
MRS (Aot A ) 10,264,455 10,528,090 A 263,635
HEHHXE 10,264,455 10,528,090 A 263,635
N4E BIIYNE e 3,259,973 3,367,740 A 107,767
701 JIEt3I HSEEES 3,259,973 3,367,740 A 107,767
02 BIILEEIHBILEES 971,278 201,555 769,723
o SINLSEH d=3 971,278




AN dot=SAFE A
HH: WRES (Yot ALY A)
S WEAHAHX = (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 BIILELENHUNENES 2,288,695 3,166, 185 AB77,490
O BILSEYNH HES 2,288,695
St=% ZBIIgXNA dE3 7,004,482 7,160,350 A 155,868
701 JIEtSI HEHES 7,004,482 7,160,350 A 155,868
02 BISELIHNZINEES 1,812,017 1,457,946 354,071
Oot=& BIILEEIH HES 1,812,017
03 BIIHELEIIAHN2HEES 5,192,465 5,702,404 A 509,939
Odt=E BIISESEIN &= 5,192,465




